CQE7F1S015552kR HES L

CQ series 1ISO15552 Standard Cylinder

171943 Ordering Code

cQ -

#1412 Bore

£G5S Series Code

.

CQ: tRESHIBL(FIHF)

CQD: XS B (A=)

CQJ: X EaeNAR () SU:
RS B (FTHRIFR)

CQ: Standard double action
(Tie—rod Type)

CQD: Double—shaft double action
(Tie-rod Type)

CQJ: Double Axis Double Acting
Adjustable Type (Tie—rod Type)
CQU: Standard Double Acting
(Micky Mouse Type)

50 x 50

17%2 Stroke

- 25 -

AT Adjust Storke

:

25:25mm
50:50mm
75:75mm

HF Specification

A2 Bore (mm)

S

/

=H: FnER
S: WEHIR
Blank: Without Magnet
S: With Magnet

#AMKS Magnet Code

LB -

EER Fixed Type

.

FH: EARE

LB: RIS EEE

FA: BIEEER(BIEZ)
FB: EEEER(EiE=)
CA: FEEIEE (2 HIF)
CB: FEEIEE(NER)
TC:AEfEER

TC-M: 22 bR
Blank: Basic type

LB: Front & back fixed type
FA: Front cover fixed type
(Front flange type)

FB: Back cover fixed type
(Back flange type)

CA: Back cover fixed type
(Single earring)

CB: Back cover fixed type
(Double earring)

TC: Central trunnion type
TC-M: Central trunnion
type attaching foot seat

FK - MT
Frim ek BT
Rod End Fitting Type
T EARH
I &k
Yo YL
FH: &iR#EE:k
FK: iFapiesk
Blank: Basic type
I: | fitting
Y: Y fitting
FH: Bearing fitting
FK: Floating fitting

R RSB Sensor

|

XYC-21REMEFFX
SC*&A

SUEE

XYC-21R
magnetism switch
SC bracket for switch
SU bracket for switch

32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200 | 250 | 320

FN{ERIT/Motion Pattern £S50E Double Action

T BR/Working Medium =5 Air

EEE=/Fixed Type EHAA/Normal type FAR/Type FBE/Type CAZY/Type CBEY/Type LBE/Type TCE/Type TC-ME/Type
{#FEBE/Working Pressure Range 0.1~0.9MPa

{RIEMmIES/Ensured Pressure Resistance 1.35MPa

R EESE/E/Operating Temperature Range 0~70C

EFRERESBE/Operating Speed Range 50~800mm/s

22 AI(/Buffer Type AJE4E % /Adjustable Buffer
& {T72/Buffer Stroke 20mm 26mm 45mm | 52mm | 66mm
EEOR/Port Size G1/g’ cia | cae | G1/2" G3/4” G1"

81



C QAFISO15552 bR 1< filL

CQ Series ISO 15552 Standard Cylinder

1772 Stroke

R TnETRE =RAITE BIFTIE
Bore (mm) Standard Stroke Max.Stroke Permissible Stroke
32 25507580 100 125 160 175 200 250 300 350 400 450 500 1000 2000
40 25507580 100 125 160 175 200 250 300 350 400 450 500 600 700 800 1200 2000
50 25507580 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1200 2000
63 25507580 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
80 25507580 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
100 25507580 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
125 25507580 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
160 25507580 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
200 25507580 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
250 25507580 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
320 25507580 100 125 160 175 200 250 300 350 400 450 500 600 700 800 900 1000 1500 2000
PI&BLEH Internal Structure
Fs B = BIR
NO. Designation NO. Designation
s o 10 1IMEE =i 1 | FEZEAI2E Piston Rod Nut | 10 fifEETR Wear Ring
2 JEZEFF Piston Rod 11 &If3 Barrel
I 3 AIEEHE 12 EhEHE
BTy o ngl—q E 1 Front Cover Seal Ring Buffer Seal Ring
4 2 iiih& Bearing 13 | &dE@st Damping Adjustable Screw
! 5 Biss Front Cover 14 fas Back Over
*H 6 EPAORE 15 A7 AiRiE
=] Buffering O-ring Hex Socket Screw
1887/ T 7 | &EORE Pipe Wall O-ring | 16 AIFTI2F3 Tie Rod Nut
8 | iEZEO0RE Pistion O-ring | 17 HIFF Tie Rod
9 ;&2 Piston 18 SEEFFZEE Piston Rod O-ring p—
Cylinder
SEIEIEH 3R Cylinder Theory Output
SERE TEEITIME iR Z RETR Z=5ES Air Pressure (Kgf/cm?)
Cyhnder Inside | External Diameter Motion Pattern Compressngn
Diameter of Piston Rod Area (cm?) 1 2 3 4 5 6 7 8 9
JEM Press Side 8.04 8.04 16.08 2412 32.16 40.20 48.24 56.28 64.32 72.36
e 12 HIfl Pull Side 6.90 6.90 13.80 20.07 27.60 34.50 41.40 48.30 55.20 62.10
FEM Press Side 12.56 12.56 25.12 37.68 50.24 62.80 75.36 87.92 | 100.24 | 113.04
<Y 19 Hf Pull Side 10.55 10.55 21.10 31.65 42.20 52.75 63.30 73.85 84.40 94.95
JEM) Press Side 19.63 19.63 39.26 58.89 78.52 98.15 | 117.78 | 137.41 | 157.04 | 176.67
20 20 1 Pull Side 16.49 16.49 32.98 49.47 65.96 82.45 98.94 | 115.43 | 139.92 | 148.41
JEM) Press Side 31.17 31.17 62.34 93.51 124.68 | 155.85 | 187.02 | 218.19 | 249.36 | 280.53
e 2y H1fM Pull Side 28.03 28.03 56.06 84.09 | 112.12 | 140.15 | 168.18 | 196.21 | 224.24 | 252.27
FEM Press Side 50.26 50.26 100.52 | 150.78 | 201.04 | 251.30 | 301.56 | 351.82 | 402.08 | 452.34
el 25 SR HfMl Pull Side 45.36 45.36 90.72 | 136.08 | 181.44 | 226.80 | 272.16 | 317.52 | 326.88 | 408.24
100 5 Double FEM Press Side 78.53 78.53 | 157.06 | 235.59 | 314.12 | 392.65 | 471.18 | 428.82 | 628.24 | 706.77
Action Hfl Pull Side 71.47 7147 | 142,94 | 214.41 | 285.88 | 357.35 | 428.82 | 500.29 | 517.76 | 643.23
125 32 FEM Press Side 122.72 122.72 | 245.44 | 368.16 | 490.88 | 613.60 | 736.32 | 859.04 | 981.76 | 1104.48
1 Pull Side 114.68 114.68 | 229.36 | 344.04 | 458.72 | 573.40 | 688.08 | 802.76 | 917.44 | 1032.12
160 40 JEM) Press Side 201.06 201.06 | 402.12 | 603.18 | 804.24 | 1005.30 | 1206.36 | 1407.42 | 1608.48 | 1809.54
H Pull Side 188.49 188.49 | 376.98 | 565.47 | 753.96 | 942.45 | 1130.94 | 1319.43 | 1507.92 | 1696.41
JEM Press Side 314.16 314.16 | 628.32 | 942.48 | 1256.64 | 1570.80 | 1884.96 | 2199.12 | 2513.28 | 2827.44
LY 40 Hf Pull Side 301.57 301.57 | 603.14 | 904.71 | 1206.28 | 1507.80 | 1809.42 | 2100.99 | 2412.56 | 2714.13
JEM Press Side 49060 9812 14718 | 19624 | 24530 | 29436 | 34342 | 39248
e £l Hf Pull Side 47100 9420 14130 | 18840 | 23550 | 28260 | 32970 | 37660
320 63 FEM Press Side 80384 16077 | 24115 | 32154 | 40192 | 48230 | 56269 | 64307
H1 Pull Side 77268 15454 | 23180 | 30907 | 38634 | 46361 54088 | 61814




CQEF1S015552kR S fiL

CQ Series ISO 15552 Standard Cylinder

< Overall Dimension

A+1T#2(Stroke)

B C+17#2(Stroke)
F|l G G
D32~P200 H N 20 N
7 e 4D
o> - e _l-
ss| | N o] 'xi
N
K/ W | S ———————]
4TH IE(Side’s Breadth)
Q] 2-4E 4218 (Buffer nut) Q]
A1+17#2(Stroke) X 2+ 7] 172 (adjusted stroke)
B C+{7#2(Stroke) B+iT#2(Stroke)
E F G I [E E+17#2(Stroke)
H I Lo N
<l

e

— f"’( n 2 -
T Th] & i %5
K/ W/ ||| e
4TH & (Side's Breadth) ol 24 RTR(Buffer nut) T
A2+1732(Stroke) X 2+ 7] 8472 (adjusted stroke)
B C+{7 12 (Stroke)
= F G 4 =10
T N ] "0 G‘N. F 17 12 (Stroke) J
/ ,,,,,,,,,,,,,,,,,,,,
fan D [
e 633 ER— el
KW —_—
41 IE(Side’s Breadth) [e] 2-2% 4B HE(Buffer nut) [Q z+ATiB1742(adjusted stroke)
A1E Bore A A1 A2 B C D E B G H | J K
32 140 187 182 47 93 26 32 15 27.5 22 17 6 M10x 1.25
40 142 191 185 49 93 30 34 15 27.5 24 19 7 M12x1.25
50 150 207 196 57 93 36 42 15 27.5 32 24 8 M16x 1.5
63 153 210 199 57 96 36 42 15 27.5 32 24 8 M16x 1.5
80 182 257 242 75 108 47 54 21 33 40 30 9 M20x 1.5
100 188 263 248 75 108 47 54 21 83 40 30 9 M20 x 1.5
125 239 330 363 104 136 56 71 32 40 54 40 12 M27 x 2
160 291 412 450 121 166 62 92 60 50 72 50 14 M36 x 2
200 272 409 451 132 130 75 117 30 41 72 50 16 M36 x 2
250 389 = = 189 200 90 122 67 54 84 65 21 M42 x 2
320 436 - - 216 220 110 126 90 65 96 75 24 M48 x 2
A& Bore L M N (@) P Q R S T \% W A
32 M6 x 1 9.5 13.7 G1/8" 3.5 7.5 7 45 33 12 10 21
40 M6 x 1 9.5 185 G1/4" 6 8.2 9 50 37 16 14 21
50 M6 x 1 9.5 13.5 G1/4" 8.5 8.2 9 62 47 20 17 23
63 M8 x 1.25 9.5 13.5 G3/8" 7 8.2 8.5 75 56 20 17 23
80 M10%x1.5 11.5 16.5 G3/8" 10 9.5 14 94 70 25 22 29
100 M10x 1.5 11.5 16.5 G1/2" 11 9.5 14 112 84 25 22 29
125 M12x1.75 21 16.5 G1/2" / / / 140 110 32 28 33
160 M16 x 2 25 26 G3/4" / / / 180 140 40 36 38
200 M16 x 2 25 225 G3/4" / / / 220 175 40 36 42
250 M20 31 G1" 18.5 5 40 270 220 50 46 =
320 M24 31 G1" 35 10 35 350 270 63 55 -




	德捷catlogue-2021 81
	德捷catlogue-2021 82
	德捷catlogue-2021 83



